\\

A

\
:/

\\ g
o

\
s B2




/ \ \\\ %

_

[ I7

\ B
\ R







Part List & Hardware List (Box 1-WF311975)

A5 N A6 N A7
Panel-1pc Panel-1pc \ WoodBar-1pc
A8 A9 B1 |
|
\ \
q ‘l
\[t: t
WoodBar-1pc WoodBar-2pcs WoodBar-1pc
B2 B3 [ B4 RN
WoodBar-1pc Panel-2pcs Panel-2pcs N
B7 [ B8 : C1
WoodBar-1pc Panel-2pcs WoodBar-1pc
C2 j C6 R C7 j
Panel-2pcs WoodBar-2pcs Panel-4pcs
D3 \ D4 D5
x
WoodBar-2pcs WoodBar-1pc Panel-2pcs
E1 E2 E3
WoodBar-2pcs s WoodBar-2pcs WoodBar-2pcs

04/43




Part List & Hardware List (Box 1-WF311975)

E9

\/
Metal corner link-1pc

F1

Metal corner link-

1pc

F2

Metal corner link-2pcs

F3

1100N

Piston Steam-2pcs

05/43




Part List (Box 2-WF311976)

A1 A2 A3 i
Leg-1pc Leg-1pc |
C4 D2
Panel-1pc WoodBar-2pcs
> - \
WoodBar-2pcs WoodBar-1pc 5
- \ ) ) \
WoodBar-1pc 5 WoodBar-2pcs WoodBar-3pcs

06/43




Part List (Box 3-WF311977)

= \
WoodBar-1pc

WoodBar-1pc

N \ ) \ )
WoodBar-2pcs WoodBar-1pc Panel-1pc
C5 C8

WoodBar-1pc

- \
WoodBar-1pc

> \
WoodBar-1pc

D7

WoodBar-2pcs

o

Panel-3pcs

E6

Woodw\

07/43




Hardware List (Box 1-WF311975)

5

M4 x 20 mm
Wood Screws 16pcs

Angle Metal 2pcs

1 2 3
§» -
Sl
Screws 1/4" x40 @1/4" x 20 mm
12pcs 8pcs Hex-Head bolts 8pcs
4 S 6]
@1/4" x 40 mm @1/4" x 60 mm @1/4" x 80 mm
Hex-Head bolts 2pcs Hex-Head bolts 24pcs Hex-Head bolts 16pcs
/ 8 9]
@1/4" x 100 mm @1/4" x 120 mm @8 x 30 mm
Hex-Head bolts 20pcs Hex-Head bolts 4pcs Wood dowel 42pcs
10 11 12
&2 C 5
: »
@1/4" x 13 mm @1/4" x 15 mm @1/3" x 40 mm
Horizontal-Hole bolts 64pcs T-Nut 10pcs Hex-Head bolts 2pcs
13 14 15
% S
N
@8 x 20 mm
Wood dowel 8pcs Nut 4pcs
16 17 18
M4 x 20 mm M4 x 30 mm M4 x 40 mm
Wood Screws 36pcs Wood Screws 24pcs Wood Screws 6pcs
19 20 21

Angle Metal 6pcs

08/43




Hardware List (Box 1-WF311975)

22 23 24
g
@20 / @6 x 2 mm M4 x 20 mm
Washer 2pcs Wood Screws 4pcs Handle 2pcs
25 26 27

M4 x 15 mm
Wood Screws 8pcs

Metal Patt 2pcs

%

Allen Key 2pcs

C—— —C

Assembly Tools Required (Not Included)

09/43




5(pcs)

10

3(pcs)

Following below illustration.

STEP1:

10

5(pcs)

STE P2 Following below illustration.




5(pcs)

3(pcs)

10

5(pcs)

STE P3 Following below illustration.

10

STE P4 Following below illustration.

11/43




STE P5 Following below illustration.

DO NOT TIGHTEN ANY BOLTS UNTIL
ALL BOLTS HAVE BEEN STARTED!

Ny

NN

/

@‘

DO NOT TIGHTEN ANY BOLTS UNTIL
ALL BOLTS HAVE BEEN STARTED!

12/43




STE P6 Following below illustration. 1 O

DO NOT TIGHTEN ANY BOLTS UNTIL
ALL BOLTS HAVE BEEN STARTED!

NI/ N\

DO NOT TIGHTEN ANY BOLTS UNTIL
ALL BOLTS HAVE BEEN STARTED! 1 3/43




STE P7 Following below illustration.

10

2(pcs)  |2(pcs)

DO NOT TIGHTEN ANY BOLTS UNTIL
ALL BOLTS HAVE BEEN STARTED!

M)

Q)
®

Nl

0

DO NOT TIGHTEN ANY BOLTS UNTIL
ALL BOLTS HAVE BEEN STARTED!

14/43




1(pc)

STE P8 Following below illustration.

A
1
i

(o) i

/

/O
/

15/43




STE Pg Following below illustration.

10

S s
k} @;\%‘)“‘W
&)

o

2(pcs)  |2(pcs)  |2(pcs)  [1(pc)

DO NOT TIGHTEN ANY BOLTS UNTIL
ALL BOLTS HAVE BEEN STARTED!

/

DO NOT TIGHTEN ANY BOLTS UNTIL
ALL BOLTS HAVE BEEN STARTED!

16/43




17/43

A\

N NN

c
S
2
=
2]
3
s Q
5
m L)
(®)]
£
2 )
3
3
[T
.
..
S o
]

@ ] o r-]
77 7
7 /
7 / V4
/ /
/ /
/ /
/ /
/ /
/ /
\\ \\
\\ \\
/
/
\x \\
/ L y/
Y/ /
/4
/ \\
/
\\
/ / \\
\\\
V4
/
7 /
\\ \\
/ /
7) /
7
/) \\
/
/
V4
/
/
/
\x \\
/
/ /
/) /
/ /
/
V4
/
\\\
V4
/
/
/
\\
/
) y \\\
/
o o
] ] L4 L4 /

STEP10




STEP1 1 Following below illustration.

Q

N
©)

10

=)

Q&S
9

2(pcs)  |2(pcs)

DO NOT TIGHTEN ANY BOLTS UNTIL
ALL BOLTS HAVE BEEN STARTED!

S

L

DO NOT TIGHTEN ANY BOLTS UNTIL
ALL BOLTS HAVE BEEN STARTED!

s

18/43




STE P1 2 Following below illustration. 1 O

DO NOT TIGHTEN ANY BOLTS UNTIL
ALL BOLTS HAVE BEEN STARTED! 2(pCS) 2(pCS) 2(pCS)

—

/

lo
L~

DO NOT TIGHTEN ANY BOLTS UNTIL
ALL BOLTS HAVE BEEN STARTED!

19/43




STEP1 3 Following below illustration.

10

=
>

>\ |4(pcs) [4(pos) |4(pos)

L~

/

DO NOT TIGHTEN ANY BOLTS UNTIL
ALL BOLTS HAVE BEEN STARTED!

4
N

DO NOT TIGHTEN ANY BOLTS UNTIL
ALL BOLTS HAVE BEEN STARTED!

20/43




STE P1 4 Following below illustration

/) \\\\.

21/43

A\

ZI7[A




8(pcs)

hAN

2(pcs)

\

o\

STEP1 5 Following below illustration.

22/43




6(pcs)

STEP1 6 Following below illustration.

23/43




ll\/

/

e/

STEP1 7 Following below illustration.

24/43




STEP1 8 Following below illustration.

/

25/43




(pcs)

10

2(pcs)

1(pc)

b\

STEP1 9 Following below illustration.

N

26/43




STE PZO Following below illustration.

STE P21 Following below illustration.

27/43




STE P22 Following below illustration.




16

STE P24 Following below illustration.

STE P25 Following below illustration.

29/43




14

15

STE P26 Following below illustration.
STE P27 Following below illustration.







12

)
o

2(pcs)

STE P3O Following below illustration.

32/43




STE P31 Following below illustration




STE P32 Following below illustration

\
N\
\ 0
\
\
\
\
\
\
/

\..\/
) ./




3 )
11

illustration.

llowing below ill

. Follo

33:

EP

ST

fff%(

35/43




D4 -
>
cs '

STE P35 Following below illustration

-

\tl

P

26/43




17

STE P36 Following below illustration

37/43




1- Determine the position of the bed in the room.

)
)
)

|

|

2- Put the bed back in its place. Please keep it vertical and horizontal.

)
)
)

|
|

38/43




STE P37 Following below illustration.

& & & & .Requires 4 people to assemble
(2 people hold the large cabinet
ln‘ ln‘ lnl 'H' in place and 2 people tilt the bed 6(pCS) 3(pCS) 3(pCS)
until

il accessories are in place)




STE P38 Following below illustration.

& & & & .Requires 4 people to assemble
(2 people hold the large cabinet
ln‘ ln‘ lnl 'H' in place and 2 people tilt the bed 6(pCS) 3(pCS) 3(pCS)
until

il accessories are in place)




OPTION 2

)

Y

)

W\
\
\
\
\
\
\
(J \
A\
NN\ 77
\
\
\
\
¢ /,
\
\
\
\
\
//
\
\
\
¢ \
/
0
[N [N N
A w) Y S &
()
¢ Z]
\ ° o Il

/

41/43




STE P1 Following below illustration




STE P2 Following below illustration

-

43/43




